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TEHEX Sy - THE - R B {7 % & # A bl iR
JERRH R =X 103, 268, 055
HEELT = 36, 771, 643
HRHEI T = 2,842,368 |#EH! 5, 600 m3
LY A7 by FRLME RS 5, 000m3LL E10,
000m3 AT ;
A 640 m3
a7 iy BEEEME 1, 000m3AH ;
FHIA Ob-27) 640 m3
+1 850, 000m3ATH ;
PEHI L (ICT) = 2,422, 444 |¥@H| (ICT) 260 m3
w0 FrEidEE
HEHEI (ICT) 5, 600 m3
/Y -7 iy BEEMEL 5, 000m3LL 110, 000m3
A
FHIA Ob-27) 220 m3
+1 850, 000m3ATH ;
FEARRE T 2V 20,527 | BEIK (BEER) BE - 20 m3
4. 0mPL E
g NE S 3 m3
2. 5mATH
BRE LT = 53,830 |BAREEL 10 m3
2. 5mATH
Rkt A = 1,539, 107 |{EmEEE (G)L50) 1, 700 m2
BRI v+ R O + kit
TEEFETE (8] 1356) 80 m2
BUGHIF M dosT
I (B ) 30 m2
T i S O I BRI
552 7)) =X 438,987 |#EY avy)-} 249 m2
(WEHLER)

18-8-25 (FJF) t=hem ;
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Vol =
FER N E
T=4L | K521 05| FTHKX 2 TRUGRATHE
TSy « TfE - FER B {7 ¥ & & A bl A iR
P v T = 1 29, 454, 380 | Ekih 12, 000
BIL (-27)
b E 11, 340
0 Cabl- EHIRY £5Te) ;
b E 640
0E
L 2 1 18, 472, 702
FEAET 2y 1 4,372,618 | FHAE I KT 940
3em 1000m20) | ;
ANTHEZ 30
74t
HEReT = 1 7,607,404 | WRATAE 158
ZEHTTE200 X 200 AEAE AR AT Fbem ;
MR A A 82
ZEWTTI200 X 200 27 —pRAT JE10cm ;
BRABIEA T = 1 6,492, 680 | BEHIEA 174
SD345 D19 L=5.0m HDZT77 HIfLE 4.7m IT Hl
FLIZET 5 B O A K EE 100mEL F200mAT ;
ERABIRA 218
SD345 D19 L=3.5m HDZT77 HIfLE 3.2m T HIFL
I L B O A PTEE 200mEL |
B A 1 2N
-7y s (BE) T 2 1 11, 852, 750
=S =W 1 264,965 | PRIE Y (A 1 2y
o
RYE Y 1 X
+4)
WRL 1 X
FEEEE 1 =
FEIA (=27) 1 =
T S TR ImPL E2mA i
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Vol =
FER N E
T=4L | K521 05| FTHKX 2 TRUGRATHE
TEHEX Sy - THE - R B {7 & # A bl iR
P v T = 135,167 | %&Hh 1 =
BIL O-27)
T wb AT 1 2V
0E
VAR VARV RN EVZA I VAR PYZ ) = 11,437,087 |BLIGFTHAE ) -} 10 m
18-8-40 (F4F) JEMES2em 5 X 30cm ;
BT HeAfavy)-h 10 m
18-8-40 (/& 47) JEMES5cm 5 X 35¢m ;
BFT/ A akay ) -} 1 m3
18-8-40 (B JF) ;
BLasyy-h 30 m2
FJ=E 10cm ;
/) =h (R%0) 77wy ) il 22 m2
8 % 35cm HEiAa/))-}10cm ;
/) =h (R%0) 77 ny ) il 36 m2
8 % 35cm HEiAav))-b15cm ;
K7™ vy ) F 163 m2
)
£ 2 75cm
K7™ vy ) F 23 m2
()
£ 2 75cm
JA - B3Rz —| 91 m3
18-8-40 (B ) ;
JIA - BEARE () 9 m3
FARAG RC-40 ;
A - BEAKS (Heh) 22 m3
FARAG RC-40 ;
N VEVZLRS 1 =
ay))—=h 1 m3
(kK2 -h)
18-8-25 (B ) ;
Tl e 1 X

(1k7Ka/7)-1)
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— A
H Hikx .3 m2
TR AHERT B M t=10 ;
H HUAR (BB D 22) m2
TR AHERT B M t=10 ;
Bl HT Rbiav - m3
18-8-25 (B ) ;
Bl HT Rbiav - m3
18-8-40 (&)
AFE () T = 15,531 | AfH (IF) 5Lng .7 m
18-8-40 (& 4F) JEMES2em 5 X 30cm ;
AR .6 m2
MBI ¢ 400N LIS AERT
JA - B3Rz 7) =] .07 m3
18-8-40 (&)
A = 1,475, 764
e+ T 2 71,880 |ERHE Y (HEHI) =
/e =g
/7)) =} =
GEELavII-M)
FEHA O-27) X
+1 850, 000m3ATH ;
P v T = 21,778 | F&Hh Y
BIL O-27)
b =X
E
7" VR AN =P L E2y 505,508 |7 VEAME v)A n
PIIEL. bm PN L. bm ;
ay))—=h .2 m3
(FEREav ) -h)
18-8-25 (B ) ;
ay))=h m3
(Rghas7)-h)
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ST FTHERE T (HE Y HAL)

214, 355

) ek
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) ek
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662, 243

LA K &
B1500 X H1200 ;

LA K &
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0.7
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1,678, 187

TAT 7 MEEE T

1,678, 187

TR s (BE - BRI
BAITyv477 RC-40 1 10 JE300mn ;
TR s (BE - BRI
BAITyv47/ RC-40 1 1 JE150mn ;
R (HEE - BRI )
R EE R M-30 £ 1Y E100mn ;
g (I - BIF )
AR ET A2y (20) AHZE/E50mm EHIE S 1. 4m
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+w 850, 000m3AT ;
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LR EIIHE T ImeL b 2mAi
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132, 929

K
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b E
+wp CEHR - ERIRY LET) ;
b E
s ;
b E
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W
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4,371, 160

7" VR A MU
(FEZEMNE)
300X 300 HIEM ;
7" VR A U
(PEEARE) CaMEEn)
300X 300 HIEM ;
7" VR A PUTRRITE
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B () SRR
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T-25 500X 700
ER:ENEIE

T-25 500 800
ER:ENEIE

T-25 500900
(eSS

HET F

HET F

HET F

vy -haE (V5 Ui )

il

/) - 2 (PEZEMIVE ) 500/ 1=500 HE A ;

il

2/))-hE BE ) (A RARAEEH) 500/ L=5

00 ;

@ (779 M47°)
@ (779 M47°)

@ (779 M47°)

300/ L=500 HiEH ;

il 5l N
ﬂ:

160

95

21
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1, 430, 250

gk ) -

HEJF® 3007 ;

gk ) -
CEAEHT)

HEJF® 3007 ;

gk ) -

HEJF® 5007 ;

gk ) -

HEJFE® 6007 ;

29

KMk v/ T

1, 276, 060

BUGFT B AR T

HFTHF 18-8-25(20) (FF4F) 500X 500 X 500 ;

BUGFT B AR T

CEAEHT)

HFTHF 18-8-25(20) (F4F) 500X 500 X 600 ;

BUGFT B AR T
CEAEHT)

B HTHA 18-8-40 (F4F) 500X 500X 1700 ;

BUGFT BT

HFTHF 18-8-25(20) (F4F) 700X 700X 800 ;

BUGFT BT

HFTHF 18-8-25(20) (F4F) 700X 700X 900 ;

BUG T B A KT
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Vol =
FER N E
T=4L | K521 05| FTHKX 2 TRUGRATHE
TEHEX Sy - THE - R B {7 % & A bl A iR

BIGFTHE 18-8-25(20) (F4F) 700X 700X 1000

BGHT K 1 T
BUGFT#F 18-8-40 (Fi%7) 800X 800X 1100 ;

BGHT K 1 T
BUGFTHF 18-8-40 (Fi4F) 800X 1300 X 1100 ;

e 1 #
TSRS 7500 X 5004 HDZT77t=6. Omm 4554
TVMEE

e 1 #
TV=F/rT E BERG00X 500 T-25 W H 485 W
ME E

e 3 #
PUV=F/)T E BERT00X 700/ T-25 W H 4585 v
ME E

e 1 #
TV=F/)T E BER800X 800 T-25 W H 484K W
ME E

ES 1 HH
PTV=FurT 3 BE800 X 1300/ T-25 I H 448%
W E E CHCED

= 1 #
P V—FsyT 2 k500 X500/ T-25 W H 110°
BREAZC 5

HEAKT = 2,494, 533 | /NBEHEAK 61 m

a7 - 300X 300 ;

fEdEK 13 m
a7 - 300X 300 ;

NS 6 biia
Bfmav ) - 1FE 300 40X 6X60 ;

CEUEVZARIN 315 m2
CINBEHEAIEEER)
18-8-25(20) (F47) t=bcm ;

GUEVZARY 13 m2
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(FEBPEK D)
18-8-25 (20) (F4F) t=Hcm ;

fxa T

284,

392

A T

284,

392

BHLEBRT 0y
— i MR ATE (150,190 X 200 X 2000) ;
BHLEBRT 0y

BN WimR AFE (150/190~150/160X200~10

0X600) ;

40

BT T

1,476,

984

R+ T 2y

21,

107

REE D
T

HRL

FEHEIE

s

AT X

16,

997

Heih
L G=27) 5
Rb A
T CEE- EARY HET)

S|P P

s

BT T 2y

530,

320

b
Gr-B-4E 21mA MR B Rl
=17 397) ;

b
Gr-B-2B 21mPL_L100mATw;  pHh o 50 46 1 4
WEESL (=077 99

mn (8

el

28

=

=

B 1A T X

24,

860

HRVE (REIRT) B 1A
& 1. 1m 4Bt =+ EH5AH 50mAT
WIS G-177 7))

Ey )

B ALl T X

883,

700

7" VA B R T
(AB47°)
BCFE H480 X B80O ;
7" VA B R T
®447°)
BCH_H480 X BS0O ;

18

10
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TEHEX Sy - THE - R B {7 % & A bl A iR
EAEENIET = 14, 210, 269
e+ T 2 132,690 |FHE Y 1 X
+4)
HEL 1 X
HmEE 1 =K
P v T = 106, 968 | & 1 =
BIL O-27)
T wb AT 1 2V
0 Cadl- EHIRY £5T) ;
A BHEM L 2 8,485,419 |n-7" -4 42 m
&L Bm n=7" ARHEAR JEAyFIE
Xk 13 N
av))-baEA RS S L Bm AvF
Xk 2 N
av))-bEEA SRRSO S L 5m AvF
N A AT 59 m
2. 5m ;
T FTHERE T (&4 BT = 4,028,172 | E Xk 61 m3
PEBE-H) 8 S 1. OmZd8 2 2. O 18-8-40 (5
W) FEEER R
i53i0) 0.07 t
SD345 D16~25 ;
i53i0) 0.04 t
SD345 D13 ;
/NEIBRE L 2 1,457,020 |/NElRE 9 m3
WA
FEIA (Ob=27) 9 m3
s 850, 000m3 AT ;
b 9 m3
WA
H 1 9 m3
B (O-27)
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= S N O A | B Az ¥ = & #A #m il N BN
SN AL T =Y 1 3, 983, 700
IEALBREE T = 1 3,983,700 |InAWERE 1 =
HEYE T Y 1 2,000, 814
SIS T =X 1 106, 014 | Bzt (0" =1 V) 30 m
Gr—C-2B ;
Bh st O =1 V=) 3 m
Gr-B—4E ;
Bh MRS G = N 477) 32 m
/) )-pEIA
s EEE L T Y 1 1,309, 032 |av))-ME&EYEUE L 160 m3
MEARETEY) FEAOE T
/) ) -MEEEUE L 0.9 m3
B EY FEWE T ;
TE LB T =Y 1 585, 768 | Wk 160 m3
/)Y - hik (AT
R IR 0.9 m3
/) -hk (BRAD)
RISy 160 m3
)= hik (AT
RISy 0.9 m3
/) -hk (BRAD)
Bl A S iE 1.42 t
B =P Vv b= A A7 EE
A Y 1 702, 190
AEEHT Y 1 702, 190 | AZW kB Y B 1 =
[ER AR = 1 103, 268, 055
@R = 1 15, 612, 364
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FEAENGRE
THEL | KP21 05| THX 2 TR&GEATHE
TEHX4y « Tfd - FER B Az W B & HH i il A R
BISTIGE: = 1 2,157, 364
HeffrE sy = 1 1,149,364 | HUE A2 1 =
[ REMT O H ST AE BR D 72 8 D FERTIE AR 1 =
PR B (TICT) 1 =
YATLIE 2 (ICT) 1 F2V
TER R AT e A 1 =
BGRESGESE (5 L) = 1 1, 008, 000
B (FEEHL) = 1 13, 455, 000
T = 1 118, 880, 419
Bl gy 2 1 40, 490, 000
T =5l = 1 166, 196, 199
— R A 2 1 26, 603, 801
TS 2 1 192, 800, 000
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THEL | KP21 05| THX 2 TR&GEATHE

THEXSy - THE - FE5 H7 % & i Gl 2 N
JERRH R X 4,371,780
i L =X 4,371, 780
B WA T =X 4,371,780 |EMpMRAT 490 m2
@R Wb/ b tAYh JE8em 250m2LL F500m2 A i
[P X X 4,371, 780 .
Hm R 2V 655, 000
e Tre: 2V 80, 000
BUGBREIUEL (REH L) 2V 80, 000
sty (R L) 2V 575, 000
ol T X 5, 026, 780
TR e gL 2V 1, 799, 000
T AT X 6, 825, 780




